P
B

M2 AEAXZFAEMFI—JTHIM)—VHRRRE1BE)

E1RE Eliip e KRFEE KE F2AHE BEILEBR K2 RIEH K
HEIE| &R EF4 i | B Ba| el EF4E HAEIE |  FERR EFE | BR| B8 Ba|Ba| EFE
5 57 FIREAXR 4 10 |T 0 0 ERT 57
7 61 JNHRJEL 3 4 11T 0 0 | SIIEKX 61 0 D 5 | mEXRE
1 65 FHER 5 0 |F 0 0 65 0 Z 5 | KEGR
3 70 EX— 5 8 |© 0 0 | fhEfEr 70 0 D 5 | EREXR
6 74 ELZRE 0 0 T| 10 4 BIER 74 0 Z 5 | SRBRE
4 86 HIIEX 0 4 ©| 14 5 | E@AEZE 86 0 Z 5 BT ER
2 125 H O 5 18 |© 8 0 N 125 0 Z 5 | BEIGA
poli4 pal-i4
297 23 9 297 0 30
/S KK KRFEE KE LARAE BEFRKE R&E#KE
HEIE| &R EF4 i | B Ba| el EF4E HAEIE |  FERR EFL | BR| B8 Ba|Ba| EFE
2 57 WRE 4 17 | T 6 1 EaT 4 57 FREAX | 5 x 0
7 61 GARER 3 11 |O 5 1 | SIUEK 3 61 INFRRE |1 2 T 12 4 | HBEKE
3 65 H el 5 0 |F 0 0 1 65 EFET | 4 12 | T 0 0 | KEBR
4 70 FEAM= 4 10T 0 0 | hEhEr 6 70 FHEZER| 0 0 T| 10 4 | ERERE
1 74 WEFEE 1 1 T 11 4 ATER 2 74 EXK— 3 6 |O 0 0 | fRBRIT
6 86 EFKH 4 10T 0 0 | tAEZE 7 86 HeEA | 0 0 ©f 9 5 BT ER
5 125 )= 4 10 | T 0 0 IS 5 125 HORE | 0 4 ©| 3 5 | BEEA
poli4 pal-i4
297 25 6 297 13 18
E5R A Iy N KBRS
HEIE| &R EF4 i | 5 Ba| el EF4E
57 0 7D 5 WERE
61 0 Z 5 | GAER
65 0 F 5 | AdEL
70 0 Z 5 FREEH—
74 0 7D 5 | #EFEE
86 0 D 5 | BRIKE
125 0 D 5 RKEFH
pof-4
297 0 35




SH2EE BRXFAMFI-IJHIN)—JVHERREE288)

G2 KIREEKZE $F25:8E L= KEXZE
EFL | Ba|Ba Ba | el EFE HElE| BE#K EFE | Ba|Ba Ba | Ba| EF4A
7 57 FiREN | 4 10 [T 0 0 | EXRER
HIERE | 5 10 |© 0 0 ETT 6 61 0 ZE 5 WEZE
KREBGRE | 4 Ol 10 3 | BIIEK 2 65 BPET | 1 4 Ol 4 3 | Hosli
EREER | 4 10T 0 0 | drafEE 4 70 FEHEZ®R | 1 6 Of 13 3 | ZFEH=
BRI | 0 0 T 11 4 B ER 3 74 EXK— 1 7 O| 8 3 | HEEXE
HEEFEL 5 6 |© 0 0 | tEEZ 5 86 HepEA | 1 1 O 7 3 | EFIAHK
BHEA| 4 10T 0 0 R St 1 125 HAmkE | o 2 ©| 4 5 KEHE
i B
19 7 297 8 22
BEIL PR K p 17N == $FI4RE KEKXZE RIEAKRE
EFS | Ba|B8s Bal| e EFL RElE|  BEK EFL | BR |8 Bal|Ba| EF4H
5 57 GAER | 5 0 |F 0 0
0 = 5 E7T 6 61 WRE 0 0 T| 10 4 | HIERE
0 S 5 | §ILEKX 3 65 Hepgl | 4 10 (T 0 0 | KEWER
0 FS 5 | FEERE 7 70 FEFA=—| 0 0 T 12 4 | ERHRFE
0 T 5 | HIELE 1 74 | #BEE | 4 | 14 |71 0 | 0 | BRAEE
0 S 5 | EABEZE 2 86 EFKFEL | O 0 T| 10 4 BT ER
0 = 5 IR S 4 125 FEILEHRH | O 0 ©| 10 5 | BFEEA
B
0 30 297 13 17
FiFip N2 BEILZEBR RS
EFL | Ba|Ba Ba | el EFEL
BIRIEX | 5 x 0
0
EBFET| 5 Z 0
FEHEX| 5 Z 0
EXK— 5 I~ 0
A A | 5 S 0
HOMRE | 5 Z 0
30 0




